
 1. Consider the graph of the exponen�al func�on  𝒇𝒇(𝒙𝒙) = 𝟐𝟐𝒙𝒙 − 𝟑𝟑.   

(a) Describe the characteris�cs of the func�on, with respect to the domain & range, intercepts, and asymptote(s).   
 
 
  

(b) State the domain, range, intercept, and asymptote for the inverse of 𝑓𝑓(𝑥𝑥). 
 
 

 

(c)  Determine the equa�on of the inverse func�on.   

 
 
 
 

 

 

2.  For the func�on 𝒚𝒚 = −𝟓𝟓𝒍𝒍𝒍𝒍𝒍𝒍𝟑𝟑(𝒙𝒙+ 𝟑𝟑) state the indicated characteris�cs. 

 

 
 

 

3. Express in logarithmic form:  122 = 144            

 

 

5. Evaluate using without using a calculator:  You must show steps. 
 

(a)  𝑙𝑙𝑙𝑙𝑙𝑙5125                  (b) 𝑙𝑙𝑙𝑙𝑙𝑙1/327 
 
 
 
 

 
 

(a)  𝑙𝑙𝑙𝑙𝑙𝑙3𝑥𝑥 = 4    (b)  𝑙𝑙𝑙𝑙𝑙𝑙𝑥𝑥 �
1
8
� = −3   (c)  𝑙𝑙𝑙𝑙𝑙𝑙2√32 = 𝑥𝑥 

 

 

 

 

7.  Simplify (show all steps) to evaluate 𝑙𝑙𝑙𝑙𝑙𝑙5625 + 𝑙𝑙𝑙𝑙𝑙𝑙7493 + 𝑙𝑙𝑙𝑙𝑙𝑙2 �
1
16
� + 𝑙𝑙𝑙𝑙𝑙𝑙𝑏𝑏𝑏𝑏 + 𝑙𝑙𝑙𝑙𝑙𝑙𝑎𝑎1 

8. Use the laws of logarithms to simplify (write as a single log) and then evaluate each expression.   
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Name: ____________________  

Domain: Range: 
Equa�on of 
Asymptote: 

Domain: Range: 
Equa�on of 
Asymptote: 

Domain: 
Any 𝒙𝒙 
intercepts: 

4 
Algebraically determine the intercepts, show your work on separate paper. 

4. Express in exponen�al form:  𝑙𝑙𝑙𝑙𝑙𝑙(𝑥𝑥 + 3) = 𝑦𝑦 
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6. Solve each equa�on.  (Show all steps / justification) 

 

2 



(a)  𝑙𝑙𝑙𝑙𝑙𝑙1224− 𝑙𝑙𝑙𝑙𝑙𝑙126 + 𝑙𝑙𝑙𝑙𝑙𝑙1236   (b)  𝑙𝑙𝑙𝑙𝑙𝑙272− 1
2

(𝑙𝑙𝑙𝑙𝑙𝑙23 + 𝑙𝑙𝑙𝑙𝑙𝑙227)   
 
 
 
 

 
 
 

 
9.  If 𝑙𝑙𝑙𝑙𝑙𝑙3 = 𝑃𝑃 and 𝑙𝑙𝑙𝑙𝑙𝑙5 = 𝑄𝑄, write an algebraic expression in terms of 𝑃𝑃 and 𝑄𝑄 for each: 

(a) 𝑙𝑙𝑙𝑙𝑙𝑙15      (b)  𝑙𝑙𝑙𝑙𝑙𝑙 25
√3

  

 

 

 

 
10.  If 𝒍𝒍𝒍𝒍𝒍𝒍𝒍𝒍 = 𝟒𝟒, evaluate: 

(a)  𝑙𝑙𝑙𝑙𝑙𝑙(100 𝑥𝑥)     (b)  𝑙𝑙𝑙𝑙𝑙𝑙 ( √𝑥𝑥
1000

)             
   
 
 
 
 
 
 

11.  Solve each equa�on algebraically.   
83𝑥𝑥+4 = 4𝑥𝑥−9 
 

 

 

 

 

 

12.   
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Write as a single logarithm:  2𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙 − 𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙
2

+ 3𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙 


